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Co byste doporucili

cernemu? 1...Vg8, 1...Vg6
nebo 1...Vc1+ a proc?
1...Vg6!!
[1..Vc1+? 2.Kd6 Ke8
3.Vh8+ Kf7 4.Kd7 Vd1
5.d6+-]
[1...Vg8? 2.Kc6 VT8
3.d6 Kc8 4.Va7r Kb8
5.Vb7+ Kc8 6.d7+ Kd8
7.Vb8+ Ke7 8.Vxf8 Kxf8
9.d8D+ ]
2.Vf7 Vh6 3.Vvg7 Vf6 4.d6
Vf1 5.Kc6 Vc1+=
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Bily na tahu 1.Vh7
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Bily na tahu 1.Vd4 Va2
2.Kc7 Vc2+ 3.Kb6 Vb2+
4.Kc6 Vc2+ 5.Kbs5 Vb2+
6.Vb4
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Bily na tahu 1.Kc8
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a b ¢ d e f g h

Bily na tahu! 1.Vh8 Vxa7
2.Vh7+ Kg6 3.Vxa7+-
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Bily na tahu! 1.Vc8 Vxa7
2.Kb6+ Kd4 3.Kxa7+-
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Bily na tahu 1.Vf2+ exf2=

[1..Ke4 2.Vf7 Vb2

3.Ve7+=]
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Cerny na tahu! 1...Kg7!!l=
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Bily na tahu
1.Kf6 Vb7

[1..Vg5 2.Vb8 Va5

3.a8D+- ]
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2.Vg8+ Kf4 3.a8D+-
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(Diagram)
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Bily na tahu 1.Vc8 Vxh7
2.Va8+ Va7 3.Vxar#



